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12:2,3,4,6,12
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42:2,3,6,7,14,21, 42
49:7, 49

GCF=7

108 108 108 36
11 x 2 = 22 pts.
18 +2=9qts.
22+2=11qts.
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16+2=8qts.
B%in
$25 + $43 = $68

1/4 x $68 = $17

7x7=49
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9%+%= 9%
—4%+%= 5
4%=4%
18 +21 =18—;-
—1221 +-21- =13
=
32+52-88-9
8%-6%=2
7%+7§-=14L—3=15%

192+3=64;64x2=128
555+5=111;111x1=111
84+4=21;21x3=63

12 x 2 = 24 pts.
28 +2 =14 qgts.
15 x 3 =45 ft.

yes
4 + 6 =10 gts. of juice

10 + 5 = 2 gts. per person
2 X 2 = 4 pts. per person

11in.

1,11, 41_44_
12+12+12+12_42 6 ft
1,1_4 .8 4+8_4_1
8 4 32 32 1 8 2 7
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